1y
olr
(ol
[
1
el

AN 2 =
=AIE pd6
Al ZHA 10g1.079] Ft wikE log1.07 = 0.0294
|5 A pldb
i) ag 7t 4M5 i) a7t 44
as; = iagolié |a3 |: |a5 N HYsE & ghot |a3 |: |a5 ® las| = ‘ia:; = a;=0

as a, as ay aq

0+ X 0+ *X
-3 -4 & =32 “‘6ﬁ“‘3<
-4 2 1 -1— @—¢
B - < @ X 0% <QX 6)(
— 3
3< _ 0 — 0 — 0 e 6
6 \ O+ X
-6 — -3 — —6
-9 —3-X
12 -6 — -3 — =6 -
<~14 -6 — <—m<
gx -24
5 < 16 . < B X
-2 — 1 — 2< / 10
1 -2— 1 — @
4 \ i < 7]
a9 B #e B 2
(=6)+(=N+(-24)+10+T1+8 =64 S e | YRS B
6+1—9(+|-24|+10+1+8=64
AN = A=
— [@)
TsokH e
A< AL =N

oS A pl19l

n=191 A< g i) n=1 B
flz) =6z + 42 — 3% + 4z = 42° + 32> + 4z
F1)=4+3+4=11




AN A< —
Z21Z FAA] p103 Zo]E oAl pl03
i) Z20Uold 42 MY oy
10=4+3+2+1 » 4!
.2 3! 1\? | 3
: g><(3!><3+§><3)(g) %x(3!><3+%><3)(%)
3 (M 4! 4! Klr 47 | | | 4
+ x| = X34+ ——x2+—x2||=] = — 3[4 4! 4! ,Ki)
5 21 2191 3! 6 540 +5><(2!><?nL 2!2!><2+ 3!><2+4. 5
47
~ 540
og|E SiAA] pl198 y
a9l & A, Bt y& 9lol ojofF GH=E b

X% 9IE A% F9E

AABCY %Z°1% het ot

EZSO\Q h= mcos%‘
" AABC ols
%X8><h< 12

S h= ‘mcosn%‘ <3

COST;—WO“ Thel mo HQ MG Zderz2a

Ao\ L Lkkat,

i) n=3, 6o\
h=|m(£1)|=m<3
Lom=1,2

LMK (m, NN W5
>

2X2

i) n=1, 2, 4, 5o\

o o<

-2 2

® m<6

Lom=1, 2, 3,04, 5

LMK (m, NN W5
>

4 X5

2X24+4x5 2

6X6 3




ALE =
FsokH HEE
A< P =
S S| T8 =
g|E AL p248
R SN S SN GUR O U 2z gL _ 1 Lfi(. l)u (_L )
Y 2nl+4n72n(l Z)V O>Z e y72nl+4n72n l+2 - 2’0

alke A




